T
é? '@ Multiplica decimales por 10,100,1000

Nombre: Fecha: Puntuacion:
8,256 x 1000 = 1,737 x 100 =
6,276 x 1000 = 4,442 x 100 =
7,918 x 10 = 1,478 x 10 =
9,63 x 1000 = 4,33 x 100 =
8, 095 x 1000 = 3, 188 x 1000 =
3,915x 10 = 9,476 x 100 =
2,359 x 1000 = 5,121 x 10 =
2,098 x 10 = 6,912 x 10 =
9,131 x 1000 = 5,188 x 1000 =
4,448 x 10 = 7,975 x 100 =
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Nombre: Fecha: Puntuacion:
8,256 x 1000 = 8256 1,737 x 100 = 173.7
6,276 x 1000 = 6276 4,442 x 100 = 444.2
7,918 x 10 = 79.18 1,478 x 10 = 14.78
9,63 x 1000 = 9630 4,33 x 100 =433
8,095 x 1000 = 8095 3,188 x 1000 = 3188
3,915 x 10 =39.15 9,476 x 100 = 947.6
2,359 x 1000 = 2359 5,121 x 10 =51.21
2,098 x 10 = 20.98 6,912 x 10 =69.12
9, 131 x 1000 = 9131 5, 188 x 1000 = 5188
4,448 x 10 = 44.48 7,975 x 100 = 797.5
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